Science 20

Make-Up Assignment

Total:
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Name:


   75

1. In a solution of sugar water, what would be the solvent? Solute?

/2

2. Name the following ionic compounds.

a) Li2S


b) Fe2O3

/4

c) NiP

d) (NH4)3As

3. Write out the chemical formula for the following compounds

a) rubidium selenide


b) copper (II) bromide

/4

c) barium sulfate

d) carbon tetrachloride

4. Name 3 common characteristics of an acid and of a base.

ACID



BASE

/3

5. Write out the complete balanced chemical formula for the reaction between calcium bromide and ammomium phosphate.

/2

6. Write out the complete balanced reaction for the combustion of butane (C4H10(g)).

/2

7. Give an example of a type of solution that would act as an electrolyte?

/1

8. A 3.4g sample of solid decene is dissolved into 100mL of water.  Calculated the % mass of decene in the resulting solution.

A. 3.40 %

B. 3.28 %

C. 0.034 %

D. 0.033 %

9. What would be the concentration of a solution if 0.125mol of the NaOH were added to 0.75L of water?

/2

10. When 5.2g of pure NaCl is dissolved in water to make 500ml of a salt solution, what is the molar concentration of the salt?

/4

11. For the reaction between sulphuric acid and barium hydroxide to produce barium sulphate and water, identify the acid, base, water and salt respectively.

A. water, barium sulphate, barium hydroxide, sulphuric acid

B. sulphuric acid, barium hydroxide, water, and barium sulphate

C. sulphuric acid, barium hydroxide, barium sulphate, and water

D. barium hydroxide, sulphuric acid, water, and barium sulphate

12. Identify which compound has a multiple charges ion as part of it
A. CuCl2
B. MgO

C. WO3
D. CCl4
13. If C4H10(g) were reacted with F2(g) to produce C4H9F(g) and HF(g), what type of reaction would have occurred.

A. Polymerization

B. Halogen Addition

C. Hydrogen Addition

D. Halogen Substitution

14. Burning wood is an example of what type of reaction
A. Polymerization

B. Combustion
C. Single Replacement
D. Double Replacement
15. If 200ml of bug wash at 0.600mol/L was diluted to 0.150mol/L, what would be the new volume?

/2

16. Calculate the amount in grams of potassium permanganate produced from the reaction of 2.30g of potassium sulphate reacted with iron (III) permanganate.

/7

17. Name the following alkanes, alkenes, and alkynes.

a)




b)



c)

/3

18. Give the structural formula for the following alkanes, alkenes, and alkynes.

a)



b)



c)

/3


3,4-diethyloctane
     3-methyl-1-butyne

4,4,5-trimethyl-1,2-dihexene

19. Identify the following as scalar, vector, weight, or mass

a) 78g

b) 10 km NE

/4

c) 68N

d) 5.02km/h

20. A limousine travels at 114km/h for 20min, how far has the limousine traveled?

/2

21. a) What does the area under a velocity-time graph represent?

/1

       b)  What does the slope of a velocity-time graph represent?

/1

22. A ball was clocked rolling 0.52m/s and accelerated to 0.75m/s in 6.0s, what would be the acceleration of the ball?

/2

23. a)  If a train travelling at 85km/h came to a stop by decelerating at –3.20m/s2, how far did it go before coming to a stop?  (watch your units!)

/2

a) How long did it take in seconds?

/2

24. a)  Using Newton’s second law, what would be the acceleration of a 40kg girl flying horizontally through the air with a force of 400N?

/1

b) What forces may be acting to slow her down? (at least 2)

/1

  27.  If you lifted a giant watermelon up to a table 1.2m above the ground and doing 50J of work in the process, what amount of force were you using?

/2

25. Fill in the table below for a 100kg genetically mutated peacock about to jump off a cliff to it’s death 90m below. (9 marks)

	
	Ep
	Ek
	Et

	Before it Jumps
	
	
	

	¾ of the way down
	
	
	

	Just before it hits
	
	
	


26. Igneous rock could best be described as
a) rock that has been eroded over years of wind, water, and snow
b) brand new rock that has come up from the earth’s mantle

c) a soft rock present in river bottoms

d) rock that has been compressed and heated to form a new type
26. A Fossil found containing 88% argon-40, a daughter nuclide would be dated as being

a) 1.26 X 109 years

b) 8.14 X 109 years

c) 3.78 X 109 years

d) 3 years

27. The surface waves that would come with an earthquake would be the last waves to 

       arrive because

a) they are the slowest at 1-6 km/s

b) they are the only waves that occur

c) they are the slowest at 6-14 km/s

d) they transmit through al the earth’s layers

28. What is meant by the term Pangea?

/1

Good Luck on your final exam! Remember this review is not everything that is on the exam, it was heavily skewed toward the first part of the semester to remind you of what we have done. The exam will be evenly distributed with 25% attributed to each unit: Chemistry, Physics, Geology, and Ecology.

Study Tips:
1) Do a unit each night



2) Go over unit exams & quizzes



3) Ask for Help before the exam (the week before of 

   day before….not the minute before

